0002142457587999

&21o—O hMEEZXYE 6—e—>

2015 4F 1R - T 55 5 1 (k2

5 0<x§%7zd)2:%, Fi@-’i’ﬂf(:c):{l—kloi(sin:r)}cos:r, MR L:y= f(x)IZD2VTHERS.

f €
(1) f(x)=0m& EFsinzDffix [ 7 |& [ 7 | THB.

(2) BI% f(x) OBWBAM () = 85, DL {1rpg(sin0} sin
3) FEms [ fla)dx : +CThB. 2T CIHBMEIETS.
(4) ik L & 2 rCIR £/ i A TR r»m.

s?nx-ﬂag(sin:() i_

M F0=0 & cosx=0 Fr1F hg(sinx)=—1
(= 1:% $RiE, sin=e"’

1
&= sima=1{, &

s

(oo _  COSX .
@ T= = o 1 {f+ﬂog(s7n1)}' (-sinx)
LO5X {4t g (51000} ST
Sinx groin

%

cog X
Sin

(3 {s?ni- @a;(smm}’: cos 1‘.04:3 (sinX) + SinX-

{f'f',@og(s‘mx)} cesX
)

11

E-f(x] di = sina- ,ng (S]HX) +C

{
@), SThl=g eRIA X A EdKE g xS % LR NT f'(al}.-’EO THING

)
]

7t
Sg 60 d
ol

"

i3
[ sinx- ng(s‘m)()_-[i

-t STVLO(.' ﬂoa(s‘!ho{)

L
e

/7




